A Ao ST w52 9 (k2] : M)
T 28 | 99 | A Ayl . R 1A7e | 20189 714 | 2018\ A%
oF | = | AFY Ak Ak - - e B) AAH(A) A4HA+B)
31 15,810,333 53,122,647 68,932,980
s 15,810,333 53,122,647 68,932,980
SolUExZEg S 14,508,223 40,747,484 55,255,707
Q1AL S 58,808 1,874,388 1,933,196
22 B A7) A= 58,808 1,836,802 1,895,610
AL B =Y 58,808 1,836,802 1,895,610
1. I FAFARIAN AL (Gr@ w47} A4 58,8084-9) 58,808 1,831,802 1,890,610
7}, WA AR AE] A 58,808 1,831,802 1,890,610
1) g2+ 320-12 |3,668,6539 %52 = 58,808 131,962 190,770
A5 T=A Y 1,566,860 4,383,653 5,950,513
S 7k A100,000 1,113,530 1,013,530
EN 72349 100,000 1,082,000 982,000
1. At FA4 (A=A A A100,0003) £100,000 1,082,000 982,000
7}, SN 7S ETLL A (XA ~100,000 781,000 631,000
1) 93k e s =58} A35,000 205,000 170,000
7P Z:uh) 210-04 |09= ~2,000 2,000
W) dEGA T 210-06 |0¢l= 3,000 3,000
o) Fshw 620—-03 |10,000,0009 X 63.= 10,000 70,000 60,000
2 15gw 620—-03 |0d= 220,000 20,000
2) Btu ZFo}rl=l =+ 240,000 112,600 72,600
7hH FA A 210-12 |0€¥= 30,000 30,000
W) xpekelxta 210-07 |09= 10,000 10,000
3) P A 210-13 |7,500,0009 x 2% 1= 25,000 20,000 15,000
4) n}Em 210-13 |5,000,0009 % 1671 20,000 100,000 80,000
BERSETE 14,100 749,127 763,227
ol 7 WAPL B Z AR 14,100 728,525 742,625
1. Yojul B F WA AN (AR AL 14,10089) 14,100 720,165 734,265
7} B 4,500 566,400 570,900
D =A% 320-05 |3,175,0009 x 12 = 4,500 33,600 38,100
L}, Felxte 110-03 |400,0009 %147 x 129 = 9,600 57,600 67,200
P ERTR-R 0 PAL 1,652,760 2,024,144 3,676,904
EEL B ERE 1,000 248,002 249,002
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(9] - )

= B RERETe 1257 | 2018 714 | 20189 HF
oF (B) o AHA) oJAHA+B)
1,000 248,002 249,002
1,000 248,002 249,002
210-01 |50,8209X10Fx103]= 1,000 4,082 5,082
210-07 |187,600¢ X 16t % 253]= A36,960 112,000 75,040
310-01 [40,00091 x2A17kx 127 x 121 = 36,960 79,200 116,160
S ASA| DA ANA 1,651,760 1,628,142 3,279,902
1. St ASA| A Fz (92373 A4 1,651,76089) 1,651,760 1,628,142 3,279,902
7F LA ZUEA A LA 1,600,000 1,600,000
420—-02 |1,470,100,0009 X 5.45%= 80,120 80,120
420-03 [2,410,0009 X 610m'= 1,470,100 1,470,100
3) FEEFAM] 420-03 |20,080,0009 x13]= 20,080 20,080
420-04 |1,470,100,0009¥ x1.341%= 19,710 19,710
5) A5 fjH] 420—-05 |1,470,100,000¢ X0.68%= 9,990 9,990
L S 2T A A S 1A 51,760 51,760
420—02 964,000,000 X5.37%= 51,760 51,760
NSEZ =AY A267,604 8,922,092 8,654,488
A281,431 6,551,168 6,269,737
A281,431 6,551,168 6,269,737
(219473 AY A242,5364) £242,536 5,840,243 5,597,707
620—03 |269,835,000¢= A15,982 285,817 269,835
620—-03 [2,106,234,00091= A68,229 2,174,463 2,106,234
A26,361 1,497,269 1,470,908
620—03 |1,070,674,000¢ = A16,511 1,087,185 1,070,674
620—-10 |400,234,0009= A9,850 410,084 400,234
A137,854 1,840,875 1,703,021
620—03 |818,004,0008 = A133,475 951,479 818,004
620—-10 |885,017,0009= A4,379 889,396 885,017
620—10 |47,709,0009= 5,890 41,819 47,709
AAA AL 28,0383 4) 18,038 204,000 195,962
A956 21,000 20,044
620—-03 |9,965,0009= A535 10,500 9,965
620—10 |10,079,0009= A421 10,500 10,079
Z2F SIS — WHFEAAY - FAXA - 7| F5 2/11




(9] - )

= | 7| A ol A Apelu el B R 1273 | 20189 714 | 20189 HF
oF | = | AFY Ak Ak - o e B) AAH(A) A4HA+B)
U x5t 620—-03 |75,610,0009= A2,390 78,000 75,610
o}, =8lw A892 49,800 48,908
D 9 620—-03 |36,780,000¢= A1,020 37,800 36,780
2) AH 620—10 |12,128,0009= 128 12,000 12,128
g}, 5w A3,960 53,950 49,990
1) =29 620-03 [23,171,0009= A3,829 27,000 23,171
2) A 620-10 |26,819,0009= A131 26,950 26,819
nl, Bty 620-10 |1,410,0009= 160 1,250 1,410
3. A}AFFAEA A (A% 229,908F4) (A A94949) A30,857 506,925 476,068
7b 62149 A2,273 46,128 43,855
1 &9 620-03 |21,804,0009= A1,324 23,128 21,804
2) A 620-10 |22,051,00091= £949 23,000 22,051
v 253t 620—03 |175,797,0009= 6,357 182,154 175,797
o} =8 AB,727 127,819 124,092
D ¥ 620—-03 |93,893,0009= A2,984 96,877 93,893
2) A 620—-10 |30,199,0009= ATA3 30,942 30,199
g}, 15w A18,897 147,371 128,474
1) 29 620-03 |59,550,0009= A10,007 69,557 59,550
2) A 620-10 |68,924,0009= 8,890 77,814 68,924
nl, sty 620-10 |3,850,0009= 397 3,453 3,850
IR L 13,827 626,355 640,182
A VS b B (337 A 13,8274¢) 13,827 626,355 640,182
1. 258ty v A FAR L 36,291 349,663 385,954
7} 253t 620—03 |385,954,0009 = 36,291 349,663 385,954
2. Zhu a A EAA N22,464 276,692 254,228
7} ¥ Es 620—03 [191,722,0009= A17,880 209,602 191,722
L AP Sst 620—10 |62,506,0009= ~4,584 67,090 62,506
BA/FH/ASEF 229,883 526,699 756,582
2372 229,883 426,161 656,044
st F21 3G /A 229,883 394,589 624,472
1. S FA 7| LA A E= (A7 A4 229,883H4) 229,883 394,589 624,472
7}, F2AIA A e o 3 10,800 130,166 140,966
W — FolHEF oS — RA/FA/ASEE — 323 - SugA AN 3/11




(9] - )

9 A5 Apelu el B A 13374 | 20184 714 | 20189 HF
Akl Abe] = T = B) oA AH(A) AAHA+B)

1) AEASTALA T WA 10,800 10,800

7H A1) 620—-03 |7,800,0009= 7,800 7,800

) 7] o] ] 620—-03 |3,000,0009 X 11L= 3,000 3,000

W G2 7w 219,083 264,423 483,506

1) 929 620—03 |2,325,00091= 2,325 2,325

2) 25 620-03 [117,310,0009= 64,750 52,560 117,310

3) Fsu 39,807 82,709 122,516

7hH ¥ 620—-03 |58,584,0009= 33,477 25,107 58,584

hH A 620-10 (63,932,000 = 6,330 57,602 63,932

4) 1538w 112,201 126,520 238,721

7hH 9 620—03 |151,743,0009= 61,456 90,287 151,743

) A 620—10 |86,978,0009= 50,745 36,233 86,978

i B P R 485,852 15,588,753 16,074,605

[amAa: k=1 P K| 452,372 10,040,502 10,492,874

3ty-gu|A ¢ 452,372 10,040,502 10,492,874

1. st 7| E-&4H] 282,248 10,040,502 10,322,750

7} AL 620—-02 |1,343,388,00091= 1,702 1,341,686 1,343,388

v x5stw 620—02 |6,417,135,000¢= 182,428 6,234,707 6,417,135

= g 620—-02 |2,562,227,0009= 98,118 2,464,109 2,562,227

2. & 7|ek g u|x Y 170,124 0 170,124

7} O EA A S A e Y 110,000 110,000

1) 258w 620—04 |80,000,0009= 80,000 80,000

2) T8 620—-04 |30,000,0009= 30,000 30,000

U, A Z=Z ) 5n) Z ) 52,424 52,424

1 E%ﬂﬂ 620—04 |52,424,0009= 52,424 52,424

o} wehG o AN A 7,700 7,700

1) 8w 620—04 |7,700,000¢1= 7,700 7,700

AL A A Y 33,480 5,548,251 5,581,731

ﬂﬁﬁ]xﬁ@@@x]% 20,479 4,517,414 4,537,893

JNAV AR AT R ZE (NA¥s} A9 20,4793 ) 20,479 4,517,414 4,537,893

7} 1 AR A Y 620-08 |4,537,893,00091= 20,479 4,517,414 4,537,893

LA ATA Y 13,001 1,030,837 1,043,838

2 - AR AL — QA A EA A
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(9] - )

e Abelu el 2= Az 1257 o 20184 714 | 20184 HF
A B T e (B) o2k (A) o 4H(A+B)

1. FuAPEATRZE 13,001 1,015,837 1,028,838

7}, 8w 7] E-8-e3n) 620-09 |1,028,838,0009= 13,001 1,015,837 1,028,838

st w80 12,434,424 9,451,899 21,886,323

3,252,006 0 3,252,006

NE 3,252,006 0 3,252,006

L WAFE (X123 A4 3,252,0068Y) 3,252,006 0 3,252,006

7V 2 aASNE 1,474,820 1,474,820

1) A AN 420-02 [1,387,480,0009 X 4.579%= 63,532 63,532

2) A4 1,387,480 1,387,480

7hH WA= 420-03 |126,380,000¢ x 24 = 252,760 252,760

W) nAEHA 420—-03 |17,570,0009 x24= 35,140 35,140

o) WSS 420-03 | 126,380,000¢ x 421 = 505,520 505,520

) A== 420-03 |56,450,0009 x 24 = 112,900 112,900

v FFAEE 420-03 |121,080,000¢ X221 = 242,160 242,160

vh) F o E&FA) 420—03 |239,000,0009 X 14]= 239,000 239,000

3) Z&u] 420-04 |1,387,480,0009 % 1.191%= 16,524 16,524

4) A4 F-tn] 420-05 |1,387,480,0009 X0.525%= 7,284 7,284

15 R o R iy 1,777,186 1,777,186

1) AAH] 420-02 |1,672,505,0009 X 4.648%= 77,738 77,738

2) Al7dn] 1,672,505 1,672,505

7h nASEH 420-03 | 126,380,000 X 64 = 758,280 758,280

W) HRESE 420-03 |413,0009 X 325m'= 134,225 134,225

o A== 420-03 |56,450,000¢ x 421 = 225,800 225,800

oh) s TS 420-03 |121,080,000¢ x 221 = 242,160 242,160

) AAEESE 420-03 1,380,000 X 53m= 73,140 73,140

v FoESFAL 420-03 |238,900,000¢9 X 12]= 238,900 238,900

3) 7] 420-04 |1,672,505,0009 % 1.163%= 19,451 19,451

4) Al H-din] 420-05 |1,672,505,000¢) X 0.448%= 7,492 7,492

TR RO 9,182,418 9,451,899 18,634,317

IEA N (X283} A4 8,976,284 ¢) 9,182,418 9,451,899 18,634,317

1. WARSFA 1,175,744 3,033,738 4,209,482

7}. vb=t 55,230 522,010 577,240
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(9] - )

f} A Apelued =g R 12579 | 20184 714 | 20184 HF

F AF B (€3] o AHA) oJAHA+B)
1) Al 55,230 55,230
7h A= 420-03 |18,410,0009 x 3= 55,230 55,230
. B 439,674 347,117 786,791
1) A4y 439,674 439,674
7hH Fol%x 420-03 |8,690,0009 x 4.1 = 35,589 35,589
W) 55 420-03 [8,690,0009 x 24 = 17,380 17,380
oh &xx 420-03 |8,690,0009 x 0.5 = 4,345 4,345
h) A% 420-03 |8,690,0009 x 54 = 43,450 43,450
nh) T 420-03 |8,690,0009 x 102 = 86,900 86,900
vh) A 420—-03 |8,690,000¢ x104= 86,900 86,900
AP &= 420—-03 |8,690,0009 x104= 86,900 86,900
oh) &= 420-03 |8,690,0009 X 92l = 78,210 78,210
o A% 390,332 802,823 1,193,155
1) AdAm] 420-02 |17,691,0009 X 12]= 17,691 17,691
2) Al 368,100 368,100
7 7= 420-03 20,450,000 x 1824 = 368,100 368,100
3) Aty 420-05 |4,541,0009 x 14 = 4,541 4,541
2}, QK 282,028 1,000,105 1,282,133
1) A]4dn] 282,028 282,028
7 M= 420-03 |12,596,0009 % 1841= 226,728 226,728
W 7 2 (AR S 420—-03 |115,0009 X 220m= 25,300 25,300
oh) Fole (o) 420-03 |15,000,0009 x 24 = 30,000 30,000
vl =% 8,480 106,318 114,798
1) A2y 8,480 8,480
7h %% 420-03 |530,0009 %164 = 8,480 8,480
2.9 - IR AN 130,945 542,078 673,023
7F - A A A 130,945 542,078 673,023
1) Aldn] 130,945 130,945
7hH B % 420-03 |7,170,0009 X 54 = 35,850 35,850
) Aok 420-03 |5,580,000¢ X 841= 44,640 44,640
o s 420-03 |3,990,000¢ x 34 = 11,970 11,970
2h) AEA S 420-03 |7,697,0009 x5 = 38,485 38,485

2% - ol iz A - AEBANANA - AL L{BAAA 6/11




FA s A e g uS1 93 (o] A9)
7z 7| A3 o] Al Apelu el B R 1257 201849 714 | 20184 HF

oF | = | AFY Ak Ak - o e B) AAH(A) A4HA+B)
3. Al A 6,899,311 3,154,809 10,054,120
7F WX1/d 58 7 5 8-4 A155,340 998,798 843,458
1) AlAdn] A230,340 998,798 768,458
7D A () 420—-01 |29,695,0009 x12= A13,035 42,730 29,695
W) £ (EAE) 420-01 [19,317,0009 X 12]= A35,931 55,248 19,317

o) @z 420-01 |09= 181,374 181,374

2) R7EAM] 75,000 75,000
7hH B85 420-02 |25,000,0009 x 1 2= 25,000 25,000
) A & (E3s) 420-02 |25,000,00091 x 14]= 25,000 25,000
oh) ArdlE (A3 420-02 |25,000,0009 x14]= 25,000 25,000
. A (AH) wA) 137,640 1,090,825 1,228,465
1) A]4dH] 137,640 137,640
7h Ardlsdx 420—-03 |11,470,0009 X221 = 22,940 22,940
W) A 420-03 |11,470,00091 x34= 34,410 34,410
) 2% 420-03 |11,470,0009 x72= 80,290 80,290
|= L S SR e 3,835,982 3,835,982
1) A AN 420-02 |3,381,085,0009 X 4.345%= 146,908 146,908
2) Al7dn] 3,581,085 3,581,085
7h wAEA (AHEE 420-03 |17,570,0009 X 1221 = 210,840 210,840
W) s A H A 420-03 |5,885,0009 x 441= 23,540 23,540
o wA=NEH 420-03 |126,380,0009 X154 = 1,895,700 1,895,700
th AGLASANE 420—-03 |56,450,0009 x32= 169,350 169,350
uh) A== 420-03 |121,080,000¢ x 3= 363,240 363,240
Hh) A4 EETFH 420-03 | 1,590,000 X 40m= 63,600 63,600
A B EEFAL 420—-03 |387,750,0004 x 12]= 387,750 387,750
op) ols2 A 420-03 |20,000,0009 X 10%= 200,000 200,000
ZF) A A A A A 420-03 |267,065,000¢ x 1= 267,065 267,065
3) #En] (45) 420-04 |96,392,0009 x14]= 96,392 96,392
4) A|AH-thn) 420-05 |3,381,085,0009 X0.343%= 11,597 11,597
2t At 3w A SN 3,074,693 3,074,693
1) AAH] 420-02 |2,843,381,0009 X 4.385%= 124,683 124,683
2) A7dn] 2,843,381 2,843,381
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P AR EAF TSR U (k] - 219
E[R] 38 | =9 | AF Al . R LA | 2018 7174 | 20189 HF
oF | B | AR Akl Akl n R = (B) AAHA) AAHA+B)
7H ZAHA 420-03 |11,770,0009x114= 129,470 129,470
) AE A 420-03 |5,790,0009 x5.54 = 31,845 31,845
th A== 420-03 [126,380,00091 X152 = 1,895,700 1,895,700
) AdA=F 420—-03 |56,450,0009 x 34 = 169,350 169,350
uh) dFBC== 420-03 [1,590,000¢ X 40m= 63,600 63,600
v o E&FA) 420-03 [317,100,0009 x12]= 317,100 317,100
AP A AR A 420-03 [236,316,00091 x12]= 236,316 236,316
3) A () 420-04 |96,392,0009 X 14 = 96,392 96,392
4) AR 420—-05 |2,843,381,0009 X0.360%= 10,237 10,237
v, WA A 6,336 6,336
1) % (524) 420-03 |192,000€ X 33m'= 6,336 6,336
4, B AMNA 782,148 496,348 1,278,496
7} == 122,316 31,600 153,916
1) 8x= 420—-03 |471,0009 X 164m= 77,100 77,100
2) WALZ 420-03 |471,0009 X 96m= 45,216 45,216
U oue2 151,800 127,190 278,990
1) HlEx 420-03 |253,0009 X 200m= 50,600 50,600
2) szt 420-03 |253,0009 x 210m= 53,130 53,130
3) Aokx 420-03 |253,000¢ X 190m= 48,070 48,070
o} ¥4 192,300 271,003 463,303
1) Adx 420-03 [239,000¢ X 340m'= 81,260 81,260
2) Hex 420-03 |239,0009 % 105m'= 25,000 25,000
3) BFxokaliw 420-03 |239,0009 X 360m'= 86,040 86,040
2} AdE T 114,480 49,290 163,770
1) BUx 420-03 |1,590,000¢ X 32m= 50,880 50,880
2) BAx 420—-03 |1,590,000€ X 40m= 63,600 63,600
ul, Z3| A A 38,608 38,608
1) Bxx 620—04 2,778,000 x 12]= 2,778 2,778
2) vlE-% 620—-04 [3,382,0009 x14]= 3,382 3,382
3) Az 620—04 |3,355,0009 x12]= 3,355 3,355
4) AElEx 620—04 |2,013,0009 X 12]= 2,013 2,013
5) dax 620—04 |3,661,0009 x121= 3,661 3,661
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(9] - )

o Apeluel = e A | 20184 714 | 20184 HF
oF ! o - ) JAH(A+B)
6) Aok x 620-04 |3,087,0009 X 124]= 3,087 3,087
7) Az 620—-04 |1,000,000¢ x 124 = 1,000 1,000
8) itz 620—04 |1,510,0009 x 12]= 1,510 1,510
9) A= 620-04 |3,382,0009 X 12]= 3,382 3,382
10) g% 620—04 | 3,704,000 x 12 = 3,704 3,704
11) A3 620-04 |10,736,00091 x12]= 10,736 10,736
vt S AN 22,860 22,860
1) 7= 420-03 |22,860,0009 X 12)= 22,860 22,860
Ab S EF AR 15,000 15,000
1) &2%% 420-03 |6,000€ % 2,500m'= 15,000 15,000
of. AR 40,000 40,000
D 93z 420-03 |500,0009 X 80m'= 40,000 40,000
2}, Zped A A7) 84,784 84,784
1) 1A 420-03 |511,0009 X 166m'= 84,784 84,784
5. AZIA A 34,450 951,949
7} 2 A1 (LED) 34,450 34,450
1) AlAdn] 34,450 34,450
7h Adlsdx 42003 |2,650,0009 x 241 = 5,300 5,300
W) i 420-03 |2,650,0009 X 32 = 7,950 7,950
) xokE 420—-03 |2,650,0009 x84 = 21,200 21,200
6. FstxAA 50,000 114,165
7t e sz 50,000 113,531
1) Aldn] 50,000 50,000
7h Atel e (GRS R 4E) 420-03 92,0009 X543m= 50,000 50,000
7. SP3AANA 60,400 574,989
7} AR 60,400 574,989
1) Al4dH] 60,400 60,400
7hH AW E(HA YD) 420—-03 |60,400,0009 X 1= 60,400 60,400
8. AldAMNA A 40,145 40,145
7} A7 (A ) oA 40,145 40,145
D A5 62011 |11,470,0009 x3.54 = 40,145 40,145
9. A7 AN (AHH) 9,275 9,275

- THARANAANE — SFTALLEBA A

g

il il
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(9] - )

T 28 | 99 | A Ayl . R 1A7e | 20189 714 | 2018\ A%
oF | = | AFY Ak Ak - o e B) AAH(A) A4HA+B)
7} 2 A1 (LED) 9,275 9,275
1) A% 620—11 |2,650,0009] % 3.54= 9,275 9,275
B4 - AduS 2,554 135,404 137,958
PN 2,554 135,404 137,958
SAERET 2,554 105,404 107,958
EANFEIAL 2,554 105,404 107,958
1. FFEATL-IA L (M #AQAF AL 2,554H9) 2,554 8,054 10,608
7}, Z3n] A 1] 210-01 |884,0009 x 129 = 2,554 8,054 10,608
&Rt 1,299,556 12,239,759 13,539,315
WSPY IRk 179,485 1,940,049 2,119,534
B4R Al B et 26,077 17,025 10,948
Bt A g g 2 Qg AB,077 17,025 10,948
1. A3 E-F 2 433 A6,077 14,565 8,488
A = 310-01 |451,00090x 19 x129= NA3,377 8,790 5,413
L}, 2H] 310—01 |7,0009 %17 x230U= A1,890 3,500 1,610
t} wEH) 310-01 |3,000€] %1% x 2302 = A810 1,500 690
A5 173,962 32,369 206,331
THANLEEEE A% AL 173,9628K) 173,962 32,369 206,331
1. 53 25,360 0 25,360
7} =58t 620—03 110,700,000 = 10,700 10,700
. F8kw 620-03 |14,660,00091= 14,660 14,660
2. 71etAA Y] 148,602 0 148,602
7t EA| )] 148,602 148,602
D iz 620—-03 [10,200,000¢1= 10,200 10,200
2) Tolx 410-01 |72,674,0009= 72,674 72,674
3) A= 410—-01 |65,728,0009= 65,728 65,728
sHA Ul =) A & 11,600 1,635,188 1,646,788
sk ul| x) A &l B2 11,600 1,635,188 1,646,788
1. B 224 @737 A 11,60089) 11,600 1,610,644 1,622,244
7} FolH s 83 620-03 [100,0009x1167}= 11,600 11,600
7189 #e 989,031 10,299,710 11,288,741
|71 B3] 9,031 476,219 485,250
TS - ZEANE - V) HeF ] - 7] 10/11




(9] - )

T 28 | 99 | A Ayl . R 1A7e | 20189 714 | 2018\ A%
oF | = | AFY Ak Ak - o e B) AAH(A) A4HA+B)
TSR LAY 9,031 476,219 485,250
1. 713273 H] 6,077 226,499 232,576
7t A e 2,968 21,341 24,309
1) FAY07H] 210-13 [13,868,0009 x 19 = 2,968 10,900 13,868
. AR 7N (3 A 2 3,109 42,430 45,539
1) HFE A 430-01 |310,900¢ X 107]= 3,109 3,109
2. F-A 71229731 1,103 149,120 150,223
7}, A A= 1,103 86,888 87,991
1) YR 208 12,848 13,056
7h el 210-01 | (416,0009 x 28%) +(208,000¢1 X 1) = 208 11,648 11,856
2) oy] 895 50,120 51,015
7h & 220-01 | (20,0009 % 287 x 215)) +(20,000€ X 1% X 113]) = 215 11,760 11,975
) = 220—-01 | (40,0004 % 28 x 223]) +(40,000¢1 X 1§ X 103]) = 400 24,640 25,040
o 9 220—01 | (70,0004 % 287 X 73]) + (70,0009 X 17§ x435]) = 280 13,720 14,000
3. =X R ER-9 73] 1,851 61,225 63,076
7F A 1.851 10,080 11,931
1) HA1z4H] 210-13 |754,2009 x129= 1,851 7,200 9,051
IEPY7)FAA 980,000 9,823,491 10,803,491
TSR DAY HE 980,000 9,823,491 10,803,491
1. AR A AL 980,000 9,823,491 10,803,491
7t TS Aol - A5 980,000 9,523,807 10,503,807
1) A4 420-03 |10,353,670,000¢ X 1 4] = 980,000 9,373,670 10,353,670
ofuju] L 7] et 131,040 0 131,040
of|u|u] 7] Et 131,040 0 131,040
AAETT 131,040 0 131,040
1. AR EFF 131,040 0 131,040
7} A A B 227 3 kgl 131,040 131,040
1) 5053429 710—-02 |323,0009= 323 323
2) Yol WA B Z AR 710-02 |76,898,000¢1= 76,898 76,898
3) St A|FAIAE A7) 710-02 |51,426,0009= 51,426 51,426
4) sH7)=FAH] 710-02 |2,393,0009= 2,393 2,393
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